ECON 351 HOMEWORK AND REVIEW QUESTIONS

FOR EQUIVALENT VARIATION

(1) Assume that there are two goods vine (X) and  whiskey (Y). A representative consumer has preferences that take the form
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  and income I=160. Before the tax is imposed, vine and whiskey are in perfectly elastic in supply at prices 
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. Then the government imposes a %300 ad valorem tax on vine (and hence increasing the price of vine to 1$). Calculate the equivalent variation and the excess burden of the tax on vine. Illustrate your results graphically using (a) compensated demand curve and (b) indifference curve analysis. Provide a careful economic interpretation of the EV.

(2) Assume that there are two goods vine (X) and  whiskey (Y). A representative consumer has preferences that take the form
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  and income I=80. Before a subsidy is imposed, wine and whiskey are in perfectly elastic in supply at prices 
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. Then the government introduces a 75% subsidy to whiskey producers. Calculate the equivalent variation and the excess burden of the whiskey subsidy. Illustrate your results graphically using (a) compensated demand curve and (b) indifference curve analysis. Provide a careful economic interpretation of the EV.
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